
SAP ABAP table KMBW_VB {SP Calculations: Internal Structure for Posting Comp. Prices}

KMBW_VB

MATNR [CHAR (18)]

VRKME [UNIT (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

WERKS [CHAR (4)]

PLTYP [CHAR (2)]

BGINT [NUMC (10)]

MANDT [CLNT (3)]

KAPPL [CHAR (2)]

KSCHL [CHAR (4)]

WAERS [CUKY (5)]

KMEIN [UNIT (3)]

KVSL1 [CHAR (3)]

SAKN1 [CHAR (10)]

KVSL2 [CHAR (3)]

SAKN2 [CHAR (10)]

LIFNR [CHAR (10)]

KUNNR [CHAR (10)]

KONMS [UNIT (3)]

KONWS [CUKY (5)]

KNUMA_BO [CHAR (10)]

VHART [CHAR (4)]

KLAH

MANDT [CLNT (3)]

CLINT [NUMC (10)]

 KMBW_VB-BGINT = KLAH-CLINT 
0..N

0..N

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 KMBW_VB-KUNNR = KNA1-KUNNR 
0..N

0..N

KONA

MANDT [CLNT (3)]

KNUMA [CHAR (10)]

 KMBW_VB-KNUMA_BO = KONA-KNUMA 
0..N

0..N

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 KMBW_VB-LIFNR = LFA1-LIFNR 
0..N

0..N

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 KMBW_VB-MATNR = MARA-MATNR 
0..N

0..N

SKA1

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

SAKNR [CHAR (10)]

 KMBW_VB-SAKN1 = SKA1-SAKNR 

0..N

0..N

 KMBW_VB-SAKN2 = SKA1-SAKNR 0..N

0..N

T000

MANDT [CLNT (3)]
 KMBW_VB-MANDT = T000-MANDT 

0..N

0..N

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 KMBW_VB-WERKS = T001W-WERKS 
0..N

0..N T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 KMBW_VB-KMEIN = T006-MSEHI 

0..N0..N  KMBW_VB-KONMS = T006-MSEHI 
1..N

1  KMBW_VB-VRKME = T006-MSEHI 0..N
0..N

T189

MANDT [CLNT (3)]

PLTYP [CHAR (2)]

 KMBW_VB-PLTYP = T189-PLTYP 

0..N

0..N

T681A

KAPPL [CHAR (2)]

 KMBW_VB-KAPPL = T681A-KAPPL 

0..N

0..N

T685A

MANDT [CLNT (3)]

KAPPL [CHAR (2)]

KSCHL [CHAR (4)]

 KMBW_VB-KSCHL = T685A-KSCHL 

0..N

0..N

T687

MANDT [CLNT (3)]

KAPPL [CHAR (2)]

KVSL1 [CHAR (3)]

 KMBW_VB-KVSL1 = T687-KVSL1 

0..N

0..N

 KMBW_VB-KVSL2 = T687-KVSL1 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 KMBW_VB-KONWS = TCURC-WAERS 

1..N

1

 KMBW_VB-WAERS = TCURC-WAERS 

0..N

0..N

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 KMBW_VB-VKORG = TVKO-VKORG 

0..N

0..N

TVTW

MANDT [CLNT (3)]

VTWEG [CHAR (2)]

 KMBW_VB-VTWEG = TVTW-VTWEG 

0..N

0..N

TVTY

MANDT [CLNT (3)]

TRATY [CHAR (4)]

 KMBW_VB-VHART = TVTY-TRATY 

0..N

{0,1}


